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No. K% g %= FE ER ik | TV =
3|IFH i Bloom Z 5| 5 [100 14.09%| G
1HERK BX Bloom BlE|l 5 100 1355% G
2@ E Bloom Bl4% 5 |100 13.81%| G
7K K& Bloom BlE 5 |LJ 461*%| G |100:13.96S
511BH #4H cheese Bkl 6 |HJ 127%| S
70/ &Il Ex EiferAC B ¥ 6 HJ 141%| G |LJ:4.81G
12)3&R% #0 EVO-TC Z|&| 5 [1000 3.18.83%| G
BFEE =M KJM. RC B|&E| 5 1000 3.15.82%| G
15115 BT KJM. RC Z|{&| 5 [1000 3.21.93%| G
UES:BE: - RUN. jp Bl&E| 5 [100 13.96% S
8 X FMEE RUN. jp Bl%| 5 [100 13.99% S
41 1Rk BEABEA RUN. jp Bl%E|l 6 100 12.96% S
1L % RUN. jp Z|%| 5 |100 13.14%| G
2lH®= LM4Fz)L |RUN. jp 5| 5 |100 13.33%| G
71EN EBR RUN. jp Z|%| 5 [100 1442%| S
25 EE & RUN. jp Z|fE| 5 [80H 13.72%| G
28|ithil B A RUN. jp 5| 6 |100 13.78%| B
56| IE&F HRE RUN. jp || 6 |JBT 46.94%| G
66 ;R IEZE RUNRUN-CLUB B|lE| 6 [1000 3.07.37%| S
58 &HH BE} SPC RC B|E| 6 [1000 3.03.11%| G
9|EE ALH SPC RC Z|E| 6 [1000 3.13.02%| G
59| 80 #%4% 1B EER B|E| 6 1000 3.03.24%x| G 600:1.45.39S
ALES Y S MF-ZEF Z| Bkl 6 [HJ 127%] S
21 8H X MNF-Z=EF BIEK 5 600 1.53.30%| S
988 i EHERTSC B% 5 100 1401%| S
13| F&F %iE B 21=7 B 6 |JBT 55.87%| S
22 %R ERE REAELEHE Z|&| 5 |1000 3.2758% S
35 A K FNK LollEé Bk 5 HJ 121%| G
39 KA ERE LollEé Bl5E 6 [100 12.50%| G
9 ARZ ¥t LollEé Z|E| 5 |600 1.56.78%| S
35| AR WE LollEeE Z|E| 6 |600 151.33%| S
2478 FHE LolldEpELEH5T B E 5 600 155.74%| S
EI L P, THE¥vXAC H|5E| 5 100 1387%| S
41LA EE Th¥FvXAC B% 5 100 13.88%| S
22 #H THF¥VXAC B E 5 600 15401%| S
40/ IUKX EA THh¥FvXAC Bl%E 6 [100 12.82%| G
678 EX Th¥FvXAC BI|E 6 |80H 1250% G
5HA BF FTIREZEH H|5E| 5 100 13.88% S
27| BBAR ¥1t TR EFR Z|%| 6 [100 1353% S
418 H BETE EH/N Z|%| 5 [100 14.18%] G
10/ f2H —5& NoE—= B|E| 5 600 150.16%| G
18/VRE B NVE—Z BIE| 5 600 15207 S
198K Imtst NVE—= B K 5 600 152.60%| S
23 FE & INVE—Z B K 5 600 15477 S
260 & NVE—= B &K 5 1000 3.05.72%| G |600m:1.46.95G
31 EH k5 NE—= B|E| 5 [1000 3.13.87%*| G |600m:1.49.89G
325 *h INVE—Z B 5 1000 3.15.28%| G |600m:1.49.63G
T4 BEAR R NVE—= B |#%| 6 |JBT 4137 B |SUFT 20
11 8% XS INVE—Z #|&| 5 [1000 3.1594%| G |600:1.50.37G
30/ B BRE INE—= Z|&| 6 (600 143.14%| G
38| ML MBEF NVE—Z Z|&| 6 [1000 3.06.47%| G [600:1.44.66G
MiBE FL NVE—= Z|E| 6 [1000 3.17.71%| S [600:1.49.71S
11 HF HIE 27AR)I1# B|IE| 5 |600 1.50.60%| G
15 FF /KE 74K B 5 600 1.51.48% G
258 BX 274 MI#% B|IE| 5 600 15581%| S
29 5k BRE 274 RI#% B|IE| 5 [1000 3.12.46%| G
45/1% FH 74K B K| 6 600 1.42.02x| G [1000:3.09.31S
55 R RE 274ARI# E &K 6 1000 25886% G |600:1.42.90G
56 5H  KH 7RI BIE| 6 [1000 3.01.12¢x| G [600:1.40.66G
63/ XJIl Bt T7AR)# B|E| 6 [1000 3.0593%| G
2| K EKRE 74 Z|&| 6 |600 14742%| G
M ER BE T7AR)# Z K| 6 [600 14823 S
23| FFE WEER Z|&E| 5 [1000 3.2861%| S |600:1.54.13S
16 ]+t @B WEREEE BlIE| 5 |600 151.84% G




6mYH TEE FES. C Z|%| 5 |100 1431% S

60 F¥ HE #@JIIWRC E|E| 6 [1000 3.04.13% G

200 RF & MEDAZ7T B|E| 5 |600 1.53.13%| S

28 BHG KF5 B =7 B K| 5 [1000 3.12.44%| G

44 8R3F H/4E BT B|E| 6 |600 14201%| G

46| KE S8 MBS 1=7 B K| 6 600 14337%| S

65| F &8 &) MED1=7T BIE| 6 [1000 3.07.21x| G

29| =48 H%R B 21=7 Z|5%E| 6 [100 1391%| B

3B|EE B BHAC Z|&K| 6 |600 147.46%| G

20| /%A IKF] FES:C Z|&| 5 [1000 3.26.49%| S

52|53 B53k REAME EHE B|IE| 6 |600 1.46.89% S

40|{FiE 1€ REAEEHE Z|&| 6 [1000 3.16.59%] G [600:1.47.71%
43| FE P&k REAEEHE Z|{E| 6 [1000 3.18.29%| S

42 #5K EH REPERHR =T Bl%E| 6 [100 13.04%| S

43 #5 K ERFF EHERTSC H|5E| 6 100 13.05% S

69 FLIL FE HHETSC BBk 6 |HJ 145% G

47 83X BFTE EZHERTSC Z || 6 |80H 13.07%| G

NEAR Eh0 PR E 4 Z | &| 6 |600 1.4499%| G

36|12 XZE FTIREF Z K| 6 [600 151.65%| S

46| =X Eh0 PR EFL #Z | [E| 6 |80H 12.96%| G

49|BAR ZMm PR EF T Bk 6 |[HJ 137%| G

12\ 258 WA =D ety 4 B K| 5 600 1.50.67%| G

36 HERA AN rtEO2Z=7 BBk 5 HJ 121%] G

38K EBjA TR aAz=7 B4 5 [LJ 406%] B |FrloshuT sfi(sEEaen)
49 K B 1= E =y 4 BIE| 6 |600 14443%] S

53| fEiE [FA rtEO2Z7 BI&K 6 1000 25740%| G |600:1.37.75G
A F=X =D ety 4 BBk 6 |HJ 1.36%| S

72| 1L EAER tR az7 BBk 6 |LJ 472%| B |[FrLTPHhyT24I
45 5=E B B 27 Z|{&| 6 [1000 3.20.38%| S [600:1.49.11S
50| FEH £tk LtEOAZT7 Z Bk 6 |HJ 1.30%| G

53[0k EBE tBR azZ7 = Bkl 6 [LJ 471%| G

54| EAR EEF rEOazZ7 Bkl 6 |LJ 470%| G

55| &R %5 tE AT Bkl 6 |LJ 438%| S |HJ:1.27S
27| KH ¥ WEEo57 BIE| 5 1000 3.08.10%| G

47 {Fik &8 o> B|E| 6 |600 14404%] S

50 &F & Wy 57 B K| 6 600 14551%| S

51|FE 1A W57 B/ K| 6 |600 146.12%| S

57 #TH A WEo>2 BE|E| 6 [1000 3.01.62x| G [600:1.37.03G
55H# 12 T E T BE R Z|%E| 5 [100 1428% G

10 fREfEsm T E TH BE 17 Z|E| 5 [1000 3.14.86x| G

14 KE K8 JIIERC BIE 5 |600 1.51.05%| G

0|ZH HiE JIIBRC B|lE| 5 [1000 3.12.64x| G

4| KE KE JIIERC BIE| 5 [1000 3.19.11%| S

6131l FIX JIIERC B|&E| 6 [1000 3.05.67| G [600:1.42.17G
64 1% EHiE JIBRC BI&K| 6 [1000 3.06.48% G

13f8f& 81t JIIERC Z|&| 5 [1000 3.21.32%| G [600:1.52.87G
16|83 #%7F0 JIIERC Z|&K| 5 |1000 3.2243%] G [600:1.50.79G
17| KE & JIIERC Z|&| 5 [1000 3.2381%| G

19|18 F FAEFE JIIERC Z|E| 5 [1000 3.25.12%| G |600:1.54.45S
62 F1#8 48 EmNoa=7 B K| 6 [1000 3.05.79%| G

68 H Rk BEmoa=7 B 6 |80H 12.76% G

18| KAR <KL E T NIENS Z|&K| 5 |1000 3.24.25%] G

26| KA FK EXNINENS (¥ 5 |JBT 38.94%| S

54 #i K ERE falmpE L BIRK| 6 [1000 257.66x| G [600:1.38.19G
8IIRA FEib falRpEL Z|&K| 5 |600 155.25%| S

21K EE falRfEL Z|&E| 5 [1000 3.27.01%] S |600:1.55.09S
31Ek BE f2EEL Z|E{E| 6 [1000 3.05.30%¥| G |600:1.44.43G
42 ZH Bk falRpEL Z|&| 6 [1000 3.1817%| S

13/f8H X REEE BIE|@ 5 600 1.50.71%| G [1000:3.17.41S
178k 18 KR B K 5 600 151.90%| G

48| &t HRFN RENEE BIRE| 6 |600 1.44.38%| S

14|18 U= KR Z|E| 5 [1000 321.75%¥| G |600:1.47.59G
24|78 KB REREE Z| K| 5 [1000 3.28.98%x| S [600:1.56.65S
14| RE /R EARERLIZT Z | E| 6 [1000 3.18.74x| S

48 h+jE R SEHERS =T Z|[E| 6 |80H 13.31%| S




